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1. (b) flash

thor

hulk 

2. (d)Persist is a synonym of
Endure.
Similarly ,
Stall is a synonym of Delay

3. (a)Except for option (a), all
numbers are in square format.

4. (c) We use binoculars to view
distant objects.
Similarly, we use a gun to shoot
distant objects.

5. (d) 
+1

+1

W  I

R  J

R  

W  

E  

F  
And,

+1

+1

P  I

C  J

C  

P  

K  

L  
Similarly,

+1

+1

I  M

L  N

L  

I  

I  

J  
6. (c)
7. (d)Noise is the opposite of

silence.
Similarly,
Light is the opposite of
Darkness.

8. (b)V > W > U > T > Y > X > Z
V is the eldest of all sisters

9. (c) 3           4

8            7

+1

4           5

7            6

+1

–1

–1

4            5+1

Similarly,

2           3

8            7

+1

4           5

6            5

+1

–1

–1

4            5+1

10. (d) (7, 21, 343) = (7, 7 × 3, 73)
(8, 24, 512) = (8, 8 × 3, 83)
Similarly,
(9, 27, 729) = (9, 9 × 3, 93)

11. (d) Rajesh
+

–

+ Suman–

Suman is daughter in law of
Rajesh.

12. (a) 12 : 36
12

2
= (6)2 = 36

18 : 81 
18

2
= (9)2 = 81

Similarly,

56 : 784
56

2
= (28)2 = 784

13. (c) There are 11 houses that are
only bikes.

14. (b)

15. (a) Except  option (a), all are
profession

16. (c) 1st  Perilad

2nd  Perimeter

3rd Periodic

4th Perish

5th Periwing

17. (d)

18. (c) G  A

A   G

T  E

E   T
Similarly,

B  O

O   B

O  K

K   O
19. (c)

20. (d)Hygrometer is used to
measure the humidity in Air.
In the same way, Ammeter
is used for measuring
electric current

21. (b)

25   42   61  82  105

+17 +19 +21 +23 +25

130

22. (c) 48 ÷ 6 + 9 – 11 × 11 + 13

Interchanging 11 and 13.

8 + 9 – 13 × 13 + 11

= 17 – 169 + 11

= –141

23. (b)a b c e e/a a b c e e/a a a b

c e e

24. (a)Except option (a), the sum of

the place values is odd

numbers.

(WC) = (23 + 3) = 26 (even)

(FM) = (6 + 13) = 19 (odd)

(PW) = (16 + 23) = 39 (odd)

(Q,X) = (17+24) = 41(odd)

25. (a)Except option (a), Other has

series of first number × 3 =

Second number.

B-GENERAL AWARENESS

26. (c) The foundation of the Sanchi

Stupa was laid by Emperor

Ashoka of the Mauryan

dynasty in the 3rd century

BCE. He is known for

building several stupas to

house the relics of the

Buddha.

• Samudragupta: ruler of the

Gupta Empire, Known for his

extensive military conquests,

he is often referred to as the

"Napoleon of India."

• Bimbisara: King of Magadha,

contemporary of Gautama

Buddha.

• Chandragupta Maurya:

founder of the Mauryan

Empire and the grandfather

of Ashoka.

lkaph Lrwi dh uhao ekS;Z oa'k ds lezkV
v'kksd us rhljh 'krkCnh bZlk iwoZ esa
j•h FkhA os cq¼ ds vo'ks"kksa dks lajf{kr
djus ds fy, dbZ Lrwiksa ds fuekZ.k ds
fy, tkus tkrs gSaA

   • leqæxqIr% xqIr lkezkT; ds 'kkld] vius
O;kid lSU; fot;ksa ds fy, çfl¼]
ftUgsa vDlj "Hkkjr dk usiksfy;u" dgk
tkrk gSA

• fcfEclkj% ex/ dk jktk] xkSre cq¼
dk ledkyhuA

• paæxqIr ekS;Z% ekS;Z lkezkT; ds laLFkkid
vkSj v'kksd ds nknkA
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27. (a) Prithviraja III, also known as
Prithviraj Chauhan, is the
most well-known ruler of the
Chahamana dynasty. He is
particularly famous for his
resistance against the
Ghurid invasions led by
Muhammad Ghori in the late
12th century. His life and
battles have been
romanticized in various
epics, including the

"Prithviraj Raso."/ìFohjkt r̀rh;]
ftUgsa i`Fohjkt pkSgku ds uke ls Hkh
tkuk tkrk gS] pkgeku oa'k ds lcls
çfl¼ 'kkld gSaA os 12oha 'krkCnh ds
var esa eqgEen xksjh ds usr̀Ro esa ?kqfjn
vkØe.kksa ds f•ykiQ vius çfrjks/ ds
fy, fo'ks"k :i ls çfl¼ gSaA muds
thou vkSj ;q¼ksa dks "i`Fohjkt jklks"
tSls fofHkUu egkdkO;ksa esa jksekafVd :i
fn;k x;k gSA

28. (d)The Doctrine of Lapse was a
British policy that was
primarily responsible for the
revolt in Jhansi by Rani
Laxmibai. According to this
doctrine, if an Indian ruler
died without a natural male
heir, their kingdom would be
annexed by the British East

India Company./fczfV'k uhfr
"MkWfDVªu vkWiQ ySIl" eq[; :i ls
>kalh esa jkuh y{ehckbZ ds foæksg ds
fy, ftEesnkj FkhA bl fl¼kar ds vuqlkj]
;fn dksbZ Hkkjrh; 'kkld fcuk çkÑfrd
iq#"k mÙkjkf/dkjh ds ej tkrk Fkk] rks
mldk jkT; fczfV'k bZLV bafM;k daiuh
}kjk gM+i fy;k tkrk FkkA

29. (c) Mahatma Gandhi referred to
Netaji Subhash Chandra
Bose as a "patriot of patriots,"
recognizing his immense
dedication to India's
independence. This phrase
expresses Gandhi's deep
respect for Netaji, despite
their differing methods and
ideologies in the freedom

movement./egkRek xka/h us usrkth
lqHkk"k paæ cksl dks "ns'kHkDrksa dk
ns'kHkDr" dgk] ftlls mudh Hkkjr dh
Lora=krk ds çfr xgu leiZ.k dks ekU;rk
nh xbZA ;g okD;ka'k xka/h dk usrkth

ds çfr xgjk lEeku O;Dr djrk gS]
Hkys gh mudh Lora=krk vkanksyu esa
fof/;ka vkSj fopkj/kjk,a fHkUu FkhaA

30. (b)The troposphere is the lowest
layer of the Earth's
atmosphere, extending from
the surface up to about 12
kilometres. It's in this layer
that almost all of our planet's
weather and climate
phenomena occur. This
includes things like rain,
snow, clouds, and wind. The
temperature in the
troposphere also generally
decreases as altitude

increases.

• Stratosphere: contains the
ozone layer, is the second
layer of the atmosphere and
is known for its stable air,
making it ideal for jet aircraft
to fly in.

• Mesosphere: coldest
atmospheric layer, where
most meteors burn up from
friction upon entering the
Earth's atmosphere.

• Thermosphere: hottest layer
of the atmosphere due to
intense solar radiation and is
where the International
Space Station and auroras

are found.

{kksHk eaMy i`Foh ds ok;qeaMy dh
lcls fupyh ijr gS] tks lrg ls
yxHkx 12 fdyksehVj rd iQSyh gqbZ
gSA bl ijr esa gekjs xzg ds yxHkx
lHkh ekSle vkSj tyok;q laca/h ?kVuk,a
gksrh gSa] tSls ckfj'k] ciQZ] ckny vkSj
gokA {kksHk eaMy esa ÅapkbZ c<+us ds
lkFk rkieku lkekU;r% de gksrk tkrk
gSA

   • lerki eaMy% blesa vkstksu ijr gksrh
gS] ;g ok;qeaMy dh nwljh ijr gS vkSj
bldh fLFkj gok bls tsV foekuksa ds
fy, mM+ku Hkjus ds fy, vkn'kZ cukrh
gSA

• eè; eaMy% lcls BaMh ok;qeaMyh;
ijr] tgka i`Foh ds ok;qeaMy esa ços'k
djus ij vf/dka'k mYdk,a ?k"kZ.k ls
ty tkrh gSaA

• rki eaMy% rhoz lkSj fofdj.k ds dkj.k
lcls xeZ ijr] tgka varjjk"Vªh; varfj{k

LVs'ku vkSj vkSjksjk ik, tkrs gSaA
31. (c) Kalbaisakhi, also known as

Nor'westers, are violent pre-
monsoon thunderstorms
marked by strong winds,
heavy rain, thunder, and
lightning occurring mainly in
eastern India during April
and May.

• These storms are caused by
the clash between the hot air
over the Chhotanagpur
Plateau and cooler, moisture-
laden winds from the Bay of
Bengal.

• Though sometimes
destructive, these storms
benefit agriculture by
providing essential moisture
and cooling for crops like jute
and rice.

dkycSlk•h] ftls ukWj* osLVlZ Hkh dgk
tkrk gS] çh&ekulwu ds fgald rwiQku
gSa] ftuesa rst gok,a] Hkkjh ckfj'k] xtZu
vkSj fctyh gksrh gS] tks eq[; :i ls
vçSy vkSj ebZ ds nkSjku iwohZ Hkkjr esa
gksrh gSaA

• ;s rwiQku NksVkukxiqj iBkj ds Åij xeZ
gok vkSj caxky dh •kM+h ls ue gokvksa
ds Vdjko ds dkj.k mRiUu gksrs gSaA

• gkykafd ;s rwiQku dHkh&dHkh fouk'kdkjh
gksrs gSa] ysfdu ;s twV vkSj pkoy tSlh
iQlyksa ds fy, vko';d ueh vkSj
BaMd çnku djds Ñf"k dks ykHk igqapkrs
gSaA

32. (b)The Indian Iron and Steel
Company (IISCO) set up its
first factory at Hirapur, near
Asansol in West Bengal.

• Established in 1918, this was
one of the earliest iron and
steel plants in India.

• The plant later became part
of the Burnpur Steel Plant,
now a unit of Steel Authority
of India Limited (SAIL).

Hkkjrh; ykSg vkSj bLikr daiuh
(IISCO) us viuh igyh iQSDVªh if'pe
caxky ds vklulksy ds ikl fgjkiqj esa
LFkkfir dh FkhA

• 1918 esa LFkkfir] ;g Hkkjr esa lcls
'kq#vkrh ykSg vkSj bLikr la;a=kksa esa ls
,d FkkA
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• ;g la;a=k ckn esa cuZiqj bLikr la;a=k
dk fgLlk cu x;k] tks vc LVhy
vFkkWfjVh vkWiQ bafM;k fyfeVsM (SAIL)

dh ,d bdkbZ gSA
33. (b)Part II of the Indian

Constitution, specifically
from Articles 5 to 11, deals
with the provisions relating
to citizenship.
Part I: (Articles 1-4) deals
with The Union and its
Territory, outlining the name
and territory of India, as well
as the admission or
establishment of new states.
Part III: (Articles 12-35)
deals with Fundamental
Rights
Part IV: (Articles 36-51) lays
down the Directive Principles

of State Policy

Hkkjrh; lafo/ku dk Hkkx II] fo'ks"k
:i ls vuqPNsn 5 ls 11 rd] ukxfjdrk
ls lacaf/r çko/kuksa ls lacaf/r gSA

• Hkkx I% (vuqPNsn 1&4) la?k vkSj
blds {ks=k ls lacaf/r gS] ftlesa Hkkjr
dk uke vkSj {ks=k] lkFk gh u, jkT;ksa
dk ços'k ;k LFkkiuk 'kkfey gSA

• Hkkx III% (vuqPNsn 12&35) ekSfyd
vf/dkjksa ls lacaf/r gSA

• Hkkx IV % (vuqPNsn 36&51) jkT;
uhfr ds funZs'kd fl¼karksa dks fu/kZfjr
djrk gSA

34. (b)The first Lok Sabha, or
House of the People, was
constituted on 17 April 1952,
following the first general
elections held in India after
gaining independence. The
first session of the Lok Sabha

began on 13 May 1952./ igyh
yksdlHkk] ;k turk dk lnu] 17 vçSy
1952 dks Lora=krk çkfIr ds ckn Hkkjr
esa gq, igys vke pqukoksa ds ckn xfBr
dh xbZ FkhA yksdlHkk dk igyk l=k
13 ebZ 1952 dks 'kq: gqvkA

35. (b)MGNREGA, enacted in 2005,
guarantees 100 days of wage
employment per year to rural
households, aiming to reduce
poverty and

unemployment./MGNREGA]
2005 esa vf/fu;fer] xzkeh.k ifjokjksa

dks çfr o"kZ 100 fnu dh etnwjh
jkstxkj dh xkjaVh nsrk gS] ftldk mís';
xjhch vkSj csjkstxkjh dks de djuk gSA

36. (a) The equation s = ut +
1

2
 at2

gives the position
(displacement) S of an object
at time t, when it starts with
initial velocity u, and
accelerates at a. It relates
position to time, so it is a
position-time relation./

lehdj.k s = ut + 
1

2
 at² fdlh

oLrq dh fLFkfr (foLFkkiu) S dks
le; t ij nsrk gS] tc ;g çkjafHkd
osx u ds lkFk 'kq: gksrh gS vkSj a
Roj.k ij xfr djrh gSA ;g fLFkfr dks
le; ls tksM+rk gS] blfy, ;g ,d
fLFkfr&le; laca/ gSA

37. (a) Coulomb’s law is
fundamentally stated for
point charges, but it can also
be applied to distributed
charges by considering the
distribution as a collection of
infinitesimal point charges
and integrating over the

distribution./dwykWe dk fu;e ewy
:i ls fcanq vkos'kksa ds fy, dgk x;k
gS] ysfdu bls forfjr vkos'kksa ij Hkh
ykxw fd;k tk ldrk gS] ;fn forj.k
dks vuar NksVs fcanq vkos'kksa dk laxzg
ekudj mldk lekdyu fd;k tk,A

38. (c) Sodium is positioned much
higher in the reactivity series
than zinc, iron, or copper. It
reacts violently with cold
water, indicating its high

reactivity./lksfM;e tLrk] yksgk ;k
rkacs dh rqyuk esa çfrfØ;k'khyrk J̀a•yk
esa cgqr Åij gSA ;g BaMs ikuh ds lkFk
fgald :i ls çfrfØ;k djrk gS] tks
bldh mPp çfrfØ;k'khyrk dks n'kkZrk
gSA

39. (d)The class Aves includes all
birds. Key features: Feathers,
Beak, Warm-blooded, Lay
eggs & Forelimbs modified
into wings. Other options
are:
Fishes  Pisces
Frogs  Amphibia

Snakes  Reptilia

,Ol oxZ esa lHkh i{kh 'kkfey gSaA çeq•
fo'ks"krk,a% ia•] pksap] xeZ jDr] vaMs
nsuk vkSj vxyh Hkqtk,a ia•ksa esa la'kksfèkrA
vU; fodYi gSa%
eNfy;ka  fiLlht
esa<d  ,fEiQfc;k
lkai  jsfIVfy;k

40. (c) Marasmus is severe

undernutrition caused by a
deficiency of both energy and
protein, leading to extreme

weight loss and muscle
wasting. Kwashiorkor is due
to protein deficiency, wasting

is a symptom, and dementia
is a neurological condition./

ejkLel xaHkhj dqiks"k.k gS tks ÅtkZ vkSj
çksVhu nksuksa dh deh ds dkj.k gksrk gS]
ftlls vR;f/d otu ?kVuk vkSj
ekalisf'k;ksa dk {k; gksrk gSA Dokf'k;ksjdksj
çksVhu dh deh ds dkj.k gksrk gS] {k;
,d y{k.k gS] vkSj fMesaf'k;k ,d
U;wjksykWftdy fLFkfr gSA

41. (b)Charles Babbage is widely

regarded as the "Father of the
Computer" because he was

the first to conceptualize and
design a mechanical,
programmable general-

purpose computer,
Analytical Engine in the early
19th century laid the

foundational principles for
modern computing.

• Alan Turing is considered the
father of theoretical

computer science and
artificial intelligence for his
work on the Turing machine

and breaking wartime codes.

• John von Neumann is known
for creating the architectural

design used in nearly all
modern computers.

• Bill Gates co-founded
Microsoft and played a key

role in the personal computer
revolution by developing
popular software and

operating systems.
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pkYlZ cScst dks "daI;wVj dk tud"

ekuk tkrk gS D;ksafd mUgksaus 19oha 'krkCnh
dh 'kq#vkr esa ,ukfyfVdy batu] ,d
;k a f = kd ] ç k s x z k e dju s  ; k s X ;
lkekU;&mís';h; daI;wVj dh vo/kj.kk
vkSj fMtkbu fd;k] ftlus vk/qfud
daI;wfVax ds ewy fl¼karksa dh uhao j•hA

• ,yu VÔwfjax dks lS¼kafrd daI;wVj foKku
vkSj Ñf=ke cqf¼eÙkk dk tud ekuk
tkrk gSA

• tkWu okWu U;weSu us vk/qfud daI;wVjksa
esa mi;ksx dh tkus okyh okLrqdyk
fMtkbu cukbZA

• fcy xsV ~l u s ekbØk slk WÝV dh
lg&LFkkiuk dh vkSj O;fDrxr daI;wVj
Økafr esa egRoiw.kZ Hkwfedk fuHkkbZA

42. (c) The Wright brothers, Orville

and Wilbur Wright, are

credited with inventing and

building the world's first

successful aeroplane and

making the first controlled,

sustained flight on December

17, 1903. Their aircraft, the

Wright Flyer, took off near

Kitty Hawk, North Carolina.

Auguste and Louis Lumière

– Cinema

Alexander Graham Bell  –

telephone

Louis Pasteur –

pasteurization & Alexander

Fleming – penicillin

jkbV ca/q] vkWjfoy vkSj foYcj jkbV]
us nqfu;k dk igyk liQy gokbZ tgkt
cuk;k vkSj 17 fnlacj 1903 dks igyh
fu;af=kr] fujarj mM+ku HkjhA mudk foeku]
jkbV Ýyk;j] mÙkjh dSjksfyuk ds fdêðh
gkWd ds ikl mM+kA

   • vkWxqLrs vkSj yqbZ ywfejs & flusek

   • vysDtsaMj xzkge csy & VsyhiQksu

   • yqbZ ik'pj & ikLpqjhdj.k vkSj
vysDtsaMj Ýysfeax & isfuflfyu

43. (d)The Bharat Ratna and the

Padma Vibhushan, along

with the Padma Bhushan

and Padma Shri, were all

instituted on 2 January

1954. These are the highest

civilian awards in India,

given for exceptional service

or performance in any field

of human endeavour./Hkkjr jRu
vkSj iÁ foHkw"k.k] lkFk gh iÁ Hkw"k.k
vkSj iÁ Jh] lHkh dks 2 tuojh 1954
dks LFkkfir fd;k x;k FkkA ;s Hkkjr ds
lokZsPp ukxfjd iqjLdkj gSa] tks ekuo
ç;kl ds fdlh Hkh {ks=k esa vlk/kj.k
lsok ;k çn'kZu ds fy, fn, tkrs gSaA

44. (a) Major Dhyan Chand's

birthday, 29 August, is

celebrated as National Sports

Day in India. He was a

legendary Indian hockey

player widely considered one

of the greatest in the history

of the sport. His birthday was

chosen to honour his

immense contributions and

to promote sports culture in

the country./estj è;kupan dk
tUefnu] 29 vxLr] Hkkjr esa jk"Vªh;

•sy fnol ds :i esa euk;k tkrk gSA
os ,d egku Hkkjrh; gkWdh f•ykM+h
Fks] ftUgsa •sy ds bfrgkl esa loZJs"B
esa ls ,d ekuk tkrk gSA muds tUefnu
dks muds vikj ;ksxnku dks lEeku nsus
vkSj ns'k esa •sy laLÑfr dks c<+kok nsus
ds fy, pquk x;kA

45. (b)The term HYV stands for

High Yielding Varieties.

These are genetically

improved varieties of seeds,

particularly of wheat and

rice, which produce

significantly larger crop

yields compared to

traditional seeds. The

introduction of these seeds

was a key component of the

Green Revolution in India

during the mid-20th

century./HYV 'kCn dk vFkZ gkbZ
;hfYMax osjk;Vht (mPp mit nsus okyh

fdLesa) gSA ;s xsgwa vkSj pkoy dh
vkuqoaf'kd :i ls csgrj fdLeksa ds
cht gSa] tks ikjaifjd chtksa dh rqyuk
esa dkiQh vf/d iQly mit çnku
djrs gSaA bu chtksa dk ifjp; 20oha
'krkCnh ds eè; esa Hkkjr esa gfjr Økafr
dk ,d çeq• ?kVd FkkA

46. (b)Somnath Temple in Gujarat

is one of the 12 Jyotirlingas,

sacred shrines dedicated to

Lord Shiva. Shakti Peeths

are dedicated to Goddess

Shakti, Char Dham are four

pilgrimage sites, and Vishnu

Temples are unrelated to

Somnath./xqtjkr esa lkseukFk eafnj
12 T;ksfrfyZaxksa esa ls ,d gS] tks Hkxoku
f'ko dks lefiZr ifo=k rhFkZLFky gSaA
'kfDr ihB nsoh 'kfDr dks lefiZr gSa]
pkj /ke pkj rhFkZ LFky gSa] vkSj fo".kq
eafnj lkseukFk ls vlacaf/r gSaA

47. (a) The Chabahar port, which

has been in the news due to

US sanctions, is located on

the coast of the Gulf of Oman

in southeastern Iran. It is of

strategic importance to India

as it provides an alternative

trade route to Afghanistan

and Central Asia, bypassing

Pakistan./pkcgkj canjxkg] tks
vesfjdh çfrca/ksa ds dkj.k •cjksa esa
jgk gS] bZjku ds nf{k.k&iwoZ esa vkseku
dh •kM+h ds rV ij fLFkr gSA ;g
Hkkjr ds fy, j.kuhfrd :i ls egRoiw.kZ
gS D;ksafd ;g ikfdLrku dks ck;ikl
djrs gq, viQxkfuLrku vkSj eè; ,f'k;k
ds fy, oSdfYid O;kikj ekxZ çnku
djrk gSA

48. (c) C. P. Radhakrishnan was

elected as the 15th Vice

President of India on

September 9, 2025, and was

sworn into office on

September 12, 2025. He

succeeded Jagdeep

Dhankhar, who had resigned

from the position.
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lh- ih- jkèkkÑ".ku dks 9 flracj 2025 dks
Hkkjr dk 15oka mijk"Vªifr pquk x;k
vkSj 12 flracj 2025 dks mUgksaus in
dh 'kiFk yhA mUgksaus txnhi /u•M+
dk LFkku fy;k] ftUgksaus bl in ls
bLrhiQk ns fn;k FkkA

49. (a) The Promotion and

Regulation of Online Gaming

Act, 2025 provides a legal

framework in India for the

online gaming sector, which

includes e-sports,

educational games, and

online social games, while

simultaneously banning

online money games./vkWuykbu
xsfeax çksRlkgu vkSj fofu;eu vfèkfu;e]
2025 Hkkjr esa vkWuykbu xsfeax {ks=k ds
fy, ,d dkuwuh <kapk çnku djrk gS]
ftlesa bZ&LiksV~lZ] 'kSf{kd xse vkSj
vkWuykbu lkekftd xse 'kkfey gSa]
lkFk gh vkWuykbu euh xsEl ij çfrca/
yxkrk gSA

50. (c)Nepal recently faced

significant political upheaval,

with protests largely

organised by its "Gen Z"

population. The protests,

initially triggered by a

government ban on popular

social media platforms like

TikTok, YouTube, and

Facebook, quickly escalated

into a wider movement

against corruption and

g o v e r n m e n t

mismanagement, ultimately

leading to the Prime

Minister's resignation./usiky us
gky gh es a egRoiw.k Z jktuhfrd
mFky&iqFky dk lkeuk fd;k] ftlesa
eq[; :i ls bldh "tsu th " vkcknh
}kjk vk;ksftr fojks/ çn'kZu 'kkfey
FksA ;s fojks/] tks 'kq: esa fVdVkWd]
;wVÔwc vkSj iQslcqd tSls yksdfç; lks'ky
ehfM;k IysViQkWeZ ij ljdkjh çfrca/
ls 'kq: gq,] tYn gh Hkz"Vkpkj vkSj

ljdkjh dqçca/u ds f•ykiQ O;kid
vk ank syu e s a cny x,] ftlds
ifj.kkeLo:i ç/kuea=kh dk bLrhiQk
gqvkA

C - QUANTITATIVE APTITUDE

51. (b) 2

1

1

x

x




÷ 4

1

1

x

x




–

41

1

x

x




× 2

1

1

x

x






 

  
1

1 1

x

x x



  ×

   
 

21 1 1

1

x x x

x

  


 –

   
 

21 1 1

1

x x x

x

  


 ×

 
  

1

1 1

x

x x



 

 (1 + x2) – 
  

 

21 1

1

x x

x

 



(1 + x2) 
1

1
1

x

x

  
 

  

(1 + x2) × 
1 1

1

x x

x

  




 22 1

1

x x

x





52. (a) Run scored in innings A

= 
30

600
100

  = 180

Run scored in innings D

= 
25

600
100

  = 150

Percentage of run scored in

innings A to run scored in

innings D

= 
180

100
150

  = 120%

53. (d)The intersection point of the

medians of a triangle is the

centroid.

54. (b)sin( + 30°) = cos5

We know,

sinA = cosB, then A + B =

90°

Now,

sin( + 30°) = cos5

 + 30° + 5 = 90°

6 = 60°

 = 10°

55. (b)According to the question

SP
1
 = 12000 × 

110

100
 = 13200

and,

SP
2
 = 20000 × 

80

100
 = 16000

Total CP = 12000 + 20000 =

32000

Total SP = 13200 + 16000 =

29200

Loss = CP – SP

Loss = 32000 – 29200

= 2800

56. (b)The speed of a bus (including

stoppages) = 54 km/h

Distance = speed × time

taken

So in 1 hr, distance traveled

= 54 km

The speed of a bus (excluding

stoppages) = 60 km/h

At this speed, time is taken

by bus to travel 54 km =

54 9

60 10
  hrs = 54 minutes.

So at a speed of 60 km/h,

the bus can travel a distance

of 54 km every 54 minutes.

For every 1 hr, the bus stops

for = 60 - 54 = 6 minutes

57. (a)His salary after 3 years

= 14000 × 
120

100
 ×

120

100
×

120

100

= 24192

58. (d)Let two real numbers are a,b

ATQ,

a2+b2=12 and ab = 4

Now,  a2+b2=12
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or, (a–b)2 + 2ab = 12

or, (a–b)2 = 12 – (2×4) = 4

or, a – b = 2

59. (c)

77
60°

A B

The length of arc = 2r ×

360



= 2 × 
22

7
 × 7 × 

60

360
= 

22

3

60. (d)Let other discount is x%

ATQ,

80000 × 
85

100
 × 

100

100

x

= 65280

680(100 – x) = 65280

x = 4%

61. (a) Let radii of two circles are

r
1
,r

2

According to the question

r
1
2 : r

2
2  = 81 : 121

r
1
 : r

2
 = 9 : 11

Now,

Circumference = 2r
1
 : 2r

2

= r
1
 : r

2

= 9 : 11

62. (b)
1

m-
m

 = 7

2

2

2

1 1
,then 

2

x V x
x x

V

  

 

Squaring of both sides

2

2

1
m

m
  = 72 + 2 = 51

63. (b)The perimeter of square = 4

× side

ATQ,

4 × side = 196

Side = 49

The side of the square is

equal to the radius of the

circle

 a = r

 Area of circle = r2

= 
22

7
 × 49 × 49

= 7546 m2

64. (b)Difference between angle

made by sector M and Q

37% – 14% = 23%

Central Angle  
23

100
 × 360°

= 82.8°

65. (b)Average number of girls in

school K and M

 
13% 7%

2




20%

2
 10%

10% of 6000  600 girls

66. (c)

3

5
4



3tan = 4

tan = 
4

3

sin = 
4

5
, cos =

3

5

Now,

7 sin – 2 cos

7 × 
4

5
 – 2 × 

3

5
  

28 6

5 5

 
  
 

 
22

5

67. (c) E F

GH

EFGH is a cyclic

quadrilateral the sum of

their opposite Angle = 180°

E + G = 180°

95° + G = 180°

G  85°

68. (c) A : B : C : D

2 : 3 : 3 : 3

6 : 6 : 7 : 7

14 : 14 : 14 : 3

168 : 252 : 294 : 63

8 : 12 : 14 : 3

69. (d)Compound interest 10%

yearly

Then 5% CI for half year

Rate of interest for 2 half

yearly  5% + 5% + 
5 5

100



= 10.25%

Difference between CI and

SI rate of interest

 10.25% –10%

0.25%

0.25% –––––––––– `25

1 –––––––––– 100

Principal 100 ––––––– 10000

70. (d)Difference between runs

scored by S and U

31% – 12% = 19% of 800

 152

71. (d)
A + B ––20
B + C ––15

A + B + C 10––

60
3
4

6

Eff.

Efficiency of A = 6 – 4 = 2

units

Efficiency of C = 6 – 3 = 3

units

A and C together can

complete the same work in

60

5
 = 12 days

72. (a) Total income = Total

expense + total saving

 2300 × 4 + 1800 × 8 +

12400

9200 + 14400 + 12400

36000

Monthly Income  
36000

12

 `3000

73. (d)
 24 12

4

 
 
  

 + 
48

81
12 2

 
 

  

 
12

4
 + 81 – 2

3 + 81 – 2

82
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74. (a) 512 × 3 – 
25

15
 × 9

1536 – 15 1521

75. (c)

3

5
4

6sec = 10

sec = 
5

3
 

H

B

5 cosec 3cot

4cos 3sin

  

 



5 9
5

4 4

12 12

5 5

 
   
 
 
  
 

 

25 9

4 4

24

5

 
  
 
 
  
 



4

24
5


4 5

24




5

6

D-ENGLISH COMPREHENSION

76. (a)Allies (fe=k) means friends or
supporters, the opposite is

Enemies ('k=kq) which means
opponents or those who
oppose.

Buddies (nksLr) means close
friends.

Scholars (fo}ku) means
learned people.

Fellows (lkF k h)  means
companions or colleagues.

77. (c) Obliterate (u"V) means to
destroy completely, similarly

Extirpate (u"V djuk) means
to remove or destroy
completely.

Hansom (?kksM+k xkM+h) means
a type of horse-drawn
carriage.

Establish (LFkkfir) means to
set up or found.

Epistle (i=k) means a letter.

78. (d)Obscure (vKkr) means not
well-known or hidden, the

opposite is Eminent (çfl¼)
which means famous or well-
known.

Renowned (çfl¼) means
widely known.

Conspicuous (Li"V) means

easily seen or noticeable.

Obscure (vKkr)  means

hidden or unknown.
79. (d)more clever than

when comparing two things
using an adjective of one
syllable like “clever,” we use
“more + adjective” for
comparison or the -er form.

80. (a) ”We can only allude (ladsr dj
ldrs g S a) to a few of the

measures.”

Allude (ladsr djuk) means to

hint at something indirectly.

Prelude (ifjp;) means an

introduction.

Prude (vR;f/d l adk sph
O;fDr)  means an overly

modest person.

Exude(çdV djuk @
fudkyuk) means to give off or

display strongly.
81. (c) When talking about

advances or improvements
in a particular field or area,
the correct preposition is
“in,” not “to.”

82. (a) The correct spelling
i s   P r e c a u t i o n a r y

(lkoèkkuhiw.kZ) which means
intended to prevent harm or
danger.
Other correct spellings are :
C o n g r a t u l a t i o n s

(cèkkb Z)  means expressing

good wishes.

Hibernation ('k hr
fuf"Ø;rk) means a state of

inactivity during winter.

Antecedent (iwoZt) means

something that came before.
83. (a) Active Voice

Structure: Bhavna (subject)
+ saw (past verb) + him
(object) + carrying your
suitcase (object
complement).
Passive Voice Structure: He
(object of active ’! subject of
passive) + was seen (was +
past participle) + by Bhavna
(original subject) + carrying
your suitcase (object
complement).

84. (d)“It is high time” (or “It’s
time,” “It’s about time”) is
used to suggest that an
action should have been
done already or is overdue,
this phrase is followed by a
subject and a verb in the
simple past tense “woke up
to” means “realized” or
“became aware of”.

85. (c) Correct order is RPSQ.
R introduces the main action
or idea, i.e., giving yourself
closure.
P explains why this idea or
action is prevalent.
S identifies who it applies to,
i.e., the person affected.
Q provides the context, i.e.,
the illusion of control in a
situation.

86. (a) The subject of the sentence,
“Not a single boy,” is
singular. Therefore, the
possessive pronoun referring
to it must also be singular.
The correct singular
pronoun to use is “his”.

87. (d)Correct order is CABD.
C introduces the main idea,
i.e., the world is still under
something.
A explains what that
something is, i.e., the
illusion that.
B provides the detail of what
is under the illusion, i.e., the
original painting still hangs.
D specifies the location, i.e.,
in the Winter Palace.

88. (d)The last straw (v a fre
frudk)  refers to the final
problem or annoyance that
makes a situation
unbearable, after a series of
difficulties or misdeeds.

89. (b) ‘Pour oil on troubled waters

('kkar djuk @ lqyg djkuk)’

means to try to calm down a

tense or difficult situation.

Statement C correctly shows

an action taken to pacify a

tense situation.
90. (a) The correct spelling

is demolished (u"V fd;k x;k
@ èoLr fd;k x;k), which
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means to tear down or
destroy a building.

91. (b)Gets about (lSj djuk @
?kweuk) means to move around
or travel from place to place,
which fits the context of
vacation.

Gets on (vPNk pyuk @ vkxs
c<+uk) means to progress or
have a good relationship.

Gets along (lkFk fuHkkuk @
esytksy j•uk) means to have
a friendly relationship.

Gets after (ihNk djuk @
Mk ¡Vuk)  means to scold or
pursue someone.

92. (d)Contraband (vo S/
eky) refers specifically to
goods that are forbidden by
law or treaty from being
imported or exported.I

llegal (voS/)  means not
allowed by law in general.

Banned (çfrcaf/r) means
officially prohibited but can
be broader than trade.

Restricted (lh fer @
çfrcafèkr) means limited or
controlled, not necessarily
illegal to trade.

93. (c) Prerogative (vf/dkj) means

a special right or privilege,

ANSWER KEY
1. (b)

2. (d)

3. (a)

4. (c)

5. (d)

6. (c)

7. (d)

8. (b)

9. (c)

10. (d)

11. (d)

12. (a)

13. (c)

14. (b)

15. (a)

16. (c)

17. (d)

18. (c)

19. (c)

20. (d)

21. (b)

22. (c)

23. (b)

24. (a)

25. (a)

26. (c)

27. (a)

28. (d)

29. (c)

30. (b)

31. (c)

32. (b)

33. (b)

34. (b)

35. (b)

36. (a)

37. (a)

38. (c)

39. (d)

40. (c)

41. (b)

42. (c)

43. (d)

44. (a)

45. (b)

46. (b)

47. (a)

48. (c)

49. (a)

50. (c)

51. (b)

52. (a)

53. (d)

54. (b)

55. (b)

56. (b)

57. (a)

58. (d)

59. (c)

60. (d)

61. (a)

62. (b)

63. (b)

64. (b)

65. (b)

66. (c)

67. (c)

68. (c)

69. (d)

70. (d)

71. (d)

72. (a)

73. (d)

74. (a)

75. (c)

76. (a)

77. (c)

78. (d)

79. (d)

80. (a)

81. (c)

82. (a)

83. (a)

84. (d)

85. (c)

86. (a)

87. (d)

88. (d)

89. (b)

90. (a)

91. (b)

92. (d)

93. (c)

94. (a)

95. (b)

96. (c)

97. (d)

98. (a)

99. (d)

100. (c)

ANSWER KEY
similarly Privilege (fo'ks"kkf/
dkj)  means a special

advantage or right.

Satisfaction (larks"k) means

contentment or pleasure.

Bias (i{ki kr)  means an

unfair preference.
P r e d i s p o s i t i o n

(ço`fÙk) means a tendency or

inclination.
94. (a) Active Voice

Structure:  May God
(subject) + bless (verb) + you
(object) + with good health
(object complement).
Passive Voice
Structure: May you (object
of active ’! subject of passive)
+ be blessed (may + be + past
participle) + with good
health.

95. (b)Somnambulist (uhan esa pyus
o kyk)  means a person

who walks in their sleep,
unaware of themselves or
their surroundings.

96. (c)
97. (d)
98. (a)
99. (d)
100.(c)


